Math343 Quiz 2

Name: Sd 1 u!'mM

Directions: Show all work. No credit for answers without work.

Sep 2, 2022

1. [3 points| Find the general solution of the system with the following augmented matrix.
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2. [2 points] Are the two matrices given below row equivalent? Explain why or why not.
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3. [3 points] Find a quadratic polynomial f(t) = a + bt + ct? such that f(—1) =9, f(1) = 5,
and f'(—1) = —4.
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4. [2 parts, 1 point each] Pivot columns and number of solutions.

(a) Suppose that every column in the augmented matrix of a linear system contains a pivot
position. What can you conclude about the number of solutions to the system? Explain.
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(b) Suppose that every column in the coefficient matrix of a linear system contains a pivot
position. What can you conclude about the number of solutions to the system? Explain.
i each column  her @ it pester Wt b bl A Hn olman  ha s
‘ % piet posthan i e 0D Lh he fe mmL’(J] colinn's
; ) { (
(/o&)[%tm" fv; 'h/va C%Q(M{' WIX\ ﬁ /hm V‘M“hy [AU; %\ ra\Ng, ’fk,\,\
o L s et
padeix ; 1l Styshan e o solt, 0o Ak US J) o1 s Jut X

Hn

i ‘«wlflfwsm W%n)’hm%rwslm(mmmm%r@w.}
’fL(VLUM

¢ orbead b ¢Zl/t§ (O'- Vig 0 Vtw\w\) or ‘leL\/fosD QZM (O=O)/ W\v on e 2
It y '
Co T nunlsy ol chons g el O o 1.




